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£ Al B E A RP =Rt | BN | ABR | TRV | &F
1| FEE E—BR | (BIRT&A 384 128 32 128 128 416
2| K 1Bt (FT=RI8—%) 288 96 128 64 64 352
3@ RE‘ (FT=RI8—%) 256 128 64 64 256
4IFE L (LoLHAT) 224 128 32 32 64 256
5|14 BEX (CxWLHAT) 224 96 64 64 224
5|1=1 HE BTFET=AHH 224 32 64 128 0 224
1K = (F=ZR/8—=4Jdn)| 192 0 0 96 96 192
NEd M [(T=X/\—=HJr)| 192 0 0 96 96 192
9| FHik EFEth (F=RI8—%) 168 32 0 8 128 168
10|55 H Rl (FRTC) 160 96 32 32 32 192
n|As B (O ASETC) 128 64 64 128
11[BE EN |(KRT=XHE) 128 96 32 128
1|RE BF (OAHTC) 128 64 64 128
14[—F X (CxWLHAT) 96 32 64 0 96
14|=F # (F=RI\—%) 96 32 0 32 32 96
16| H #hth (7)) 64 64 0 64
16|#K —% (DAKTC) 64 64 0 64
16[3FE BEFR (DAKTC) 64 64 64
16|FH —hk (WDAHTC) 64 0 0 32 32 64
20(fRiE BRAG € [EdE) 48 16 0 32 48
20|1%% EBR (T=RIN—%) 48 0 16 32 48
AEIEE S (FRTC) 40 0 32 8 0 40
22|5hH X&§ (CxWLHAT) 40 0 32 8 0 40
24|17 &E U 32 32 32
24|17 #R (T=RIN—%) 32 32 32
24|EIE FISE (F=RIN—%) 32 32 32
24[/ME BH |(FZR/N—=HJr)| 32 32 0 0 32
24|EERE #t (T=R/N\—%Jr)| 32 32 32
24|TEIR R (FRTC) 32 0 32 32
24(+ X LR T=RBE 32 32 32
24|FH £ (FRTC) 32 0 32 32
24|78 E EHK (CvWLHAT) 32 0 32 32
24|27 BABBFET=AHBE 32 32 0 32
24|FFH R (FT=RI8—%) 32 32 32
24|lUA F— (F=R/8—%) 32 0 0 32 32
24|EE EX CoLHAT) 32 0 32 32
37| XJIl 5&E (BT 26 10 16 0 26
37|F=H HE (FT=RI8—%) 26 10 16 26
39|/hEF EE (CxWLHAT) 24 16 8 0 24
9|EH BEE (CxLHAT) 24 16 8 0 24
9|EE ER  |((TLA4Liavy)| 24 16 0 8 0 24
2ELARX B—| Et53=—) 20 16 4 20
BlErs # (CoLWHAT) 18 8 10 18
43|% 1 A (#IB& TP 18 0 10 8 0 18
45|/MiE $ER (CxWLHAT) 16 0 8 8 16
45|m1% KE§ (CxWLHAT) 16 8 8 16
45|%&HE {— A (CxWLHAT) 16 8 8 16
48| B IR (E5=—) 14 4 10 14
48|HE 1ESE (E5=—) 14 4 10 14
48iEE Exi | (T=R/8\—%9) 14 10 4 0 0 14
51|%%F ¥R (CvWLHAT) 12 8 4 0 12
51148 Fth (FRTC) 12 8 4 0 12
53|=tE Bt (BRI 10 10 10
54| 4% & (CxWLHAT) 8 8 8
54(FE)Il #fE (#IB& TP 8 8 8
54 &8 BEE (FRTQC) 8 8 8
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54| FHIR ER U 8 8 8
54|k R (SRR ARE) 8 8 8
54|FF G U 8 0 8 8
54|/t TIr (CxWLHAT) 8 8 8
54| Kk = |((TLALLavY) 8 8 8
54[iZ)Il AR ()11 2% 4R P ) 8 8 8
AESE S (CoLHAT) 8 8 8
648 —8B | GIBRTHRD 4 4 4
64[BER & (FRTC) 4 4 4
64[8F 1EX ZYU—) 4 4 0 4
643 & (7)) 4 4 0 4
64| Tk ST (7)) 4 4 4
64[3RE EA &= 4 4 0 4
b4[{EAKR HEBFET=RAHH 4 4 0 0 4
64[;BEF BF (FRTC) 4 4 4
64|JEK FE# (FRTC) 4 4 0 4
64| LUK X (BET—AH= 4 4 4




